
 2û 

 4
û 

 90 ãç× Á6-7Â 

 22
ê4

=8
8

 

µ

µ

 
27

9,
5 

 
33

5,5
 

 
29

0 
H9

 +  0,
13
 

 
32

5 
H9

 +  0,
1  

 
33

1 
H9

 +  0,
1  

 
32

2,
5 

 
29

2,
5 

 
28

4 
H9

 +  0,
13
 

 5 éÕæãß 1ê45 

 28 

 38 

E

µ-µ   (1 : 1)

 2
3,5

* 

 1
7,
5*

 

 1
7,
5*

 

 5 N9  
-0,03  3 N9 -

-
0,004
0,029 

 9 + 
0,2  4 +

 
0,1 

 23 

 R1 

 R1 

E  (2 : 1)

R` 3,2 

R` 3,2 

 2
 

 4
û 

 8
û 

 4
4ê

8
=3

52
 

 2
1,4

* 

 1
7,
5*

 

R`6.3
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3. ÄãßåðçÝÚ: ÊÝá.Ãßæ.
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ʌʦʨʤʘʪ ɸ2ʂʦʧʠʨʦʚʘʣ

 ·ÁÅµ 150811.02.044 

 
ÇÝØÝí×ÝàÝ
¹ÝÙÚâßã

ÅðÖÕßã×
¿âôÜÚ×

 ɻʆʉʊ 1050-88
ʉʪʘʣʴ 45

ÇÝØÝí×ÝàÝ 1:5

ÀÝæçã× 1ÀÝæç 1

ÁÕæíçÕÖÁÕææÕÀÝç.

Èç×.
Â. ßãâçå.

Äåã×.
Ç. ßãâçå.

ÅÕÜåÕÖ.
¹ÕçÕÄãÙä.± Ùãßèá.ÀÝæç½Üá.

3.422 ÄãàÜèâ

ÃÃÃ ÂÄÄ ·½ÈÆ

(¼ÕØãçã×ßÕ)
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